Note: The bird guard should
be installed between the first
and second skirt of the
transformer bushing.

ltem Number G5-1 - ltem Description

2000278 1 Conn HL Gp 8-2-/0-8-1/0
*¥2000197 As Req'd Cable Ins Riser #6 Cu Sol
2000494 1 Guard Bird Lg

*Denotes Grab Bag Item

for a Single Transfomer

@,ﬂ PEDERNALES ELECTRIC Jumpers and Wildlife Protection

COOPERATIVE, INC.
Pedema]e » drawn: approved date:




Removal

ltem Number | ltem Quatitity ltem Description

2000498 1 Guard, Electrostatic Animal

CEg PEDERNALES ELECTRIC Electrostatic Bird Guard
COOPERATIVE, INC.

Pedema]es : approved date:
ve, Inc.

CONSTRUCTION ASSEMBLY UNIT MIB [eewenan| (GH-2




-

Does not fit GE Transformers or Siemens Arresters,
bird guard should be installed between the first and
second skirt of arrester.

Item Number |[Iltem Quantity Item Description

2000495 1 Guard Bird, Arrester

CEE PEDERNALES ELECTRIC Arrester Wildlife Protection
Pd A COOPERATIVE, INC.
(¥] 617236 rawn: approve ate:

e | CONSTRUCTION ASSEMBLY UNIT |88 T 0B Tomz ] G5-2.1




10" for Tangent
Poles and 15" for

En\w . dead end and — R
angle poles ‘b

_l. Unit ZM5-15B Use this
] unit along with unit G135
if there are no crossarms to

mount the cutout. /
Lightning Arrester )

a is normally pre-mounted. " "
, If replacing the lightning 18"t0 24
18" to 24"— . arrester on a straight i 12" or 24" depending

ﬂ. .|: (T 7.2kV transformer use the A on the transformer
, stock #2000012 on 14.4kV
12" or 24" depending on transformer— _ 1 or dual voltage transformers | ——As Required

BN
/ ot use stock #2000014.

— As Require
Service Attachment—"
40" _<__:_3c3\ Top Communications attachment:

Top Communications omc_m.\

Note: Do not disconnect transformer neutral without first disconnecting the primary.

d, f,
Service Attachment ——40" Minimum

>~ D

—l_

36,0" 1 : :

o 8.
\ 7 Dimension for mSm_rL o { !
transformers P G @/
Top View "
7-172 pr

Min.
: to
Dimension for large. ' MM @x@ Top View
transformers - zmmo
Table
235-6

19 Transformer mounted under the bottom circuit of a multi-circuit line.

1® Transformeron a1® ora 3® Pole
%m b PEDERNALES ELECTRIC with Pre-mounted Arrester

COOPERATIVE, INC. CONSTRUCTION Page 1 of 2

Pedernales ASSEMBLY UNIT approved date:
S MJB | December 20, 2011 O \— w m




Transformer Fusing Table

KVA

7.2kV

14.4kV

5

1X

1/2X

10

2X

1X

15

2 3/4X

1 1/2X

25

4X

2.5X

7X

3.5X

50

10X

4X

75

15X

7X

100

20KS

10X

167

30KS

15X

250

50KS

25KS

333

65KS

30KS

500

100KS

50KS

Material
Number
2000278 1
2000423 1
2000494 1
* 2

1

2

Material
Number
*3000240 1
*2001550 As Req'd
*2000197 As Req'd
* As Req'd
2000495 1

Item Quantity Item Description item Iltem Quantity Item Description

Conn HL Gp 8-2/0-8-1/0
Cutout 14.4-24.9 100A
Guard Bird, Lg
Bolt Machine 5/8"
Guard Fused Cutout Cover
Locknut 5/8" M F

* Denotes Grab Bag Item. All bolt lengths are dependent on pole class.

Washer SqF 21/4

Wire Copper Clad Steel #6 Solid
Cable Ins Riser #6 Cu Stranded
Connector

Guard Bird, Arrester

2000496
*3000153

&/
Pedernales

Electric Cooperative, Inc.

1® Transformeron a1® ora 3® Pole
with Pre-mounted Arrester
Page 2 of 2

PEDERNALES ELECTRIC
COOPERATIVE, INC. CONSTRUCTION
ASSEMBLY UNIT

date:
December 20, 2011

approved

MJB

G135




TRANSFORMERS MOUNTED ON 3¢ DEADEND POLE

] 09"

(Note: This Construction R

Assembly Unit is for Replacement
or Removal only. If replacing this
unit it has material currently
approved by the Distribution,
Construction, and Design
\Standards Commitee. )

e‘—_\ \

c—=—

0'-6" ~— a3 1 = ground to neutral.

13" Pole ground-\

X X

v — i 14 A H

Transformer Mount Transformer ransformer

Bolt Locati e © case ground L _ case ground
ol bocationS—— g Grounding Detail g
— 7

Bond transformer

Transformer Mount

Bolt Locations
1'-6"/

N

TANGENT LINE ASSEMBLY

SECTION X-X

Construction Specification for two transformer cluster

%ﬂ PEDERNALES ELECTR|C mounted with 3® fiberglass equipment mount bracket.

Open wye-delta for 120/240v power loads.

CI# | COOPERATIVE, INC. Page 1 of2
eaernaies rawn; approve ate:
e | CONSTRUCTION ASSEMBLY UNIT |88 T MiuB Tmmenzi] G210




12.5/7.2kV or 24.9/14.4kV

Use which ever two Primary 12.5/7.2kV or 24.9/14.4kV

Phases are available or

any two if three are available.

Connections for Double
Bushing Transformers

12.5/7.2kV or 24.9/14.4kV

120/240v

120/240v

Connections for Single
Bushing Transformers

Use which ever two Primary 12.5/7.2kV or 24.9/14.4kV

Phases are available or any

Fused cutout—=%
Lightning arrester—_|

two if three are available.
12.5/7.2kV or 24.9/14.4/ S

—Fused cutout

Grounded neutral [ Lightning arrester

1 1
1ZOV\= WZlOv

120/240v
Wiring Diagram for Assembly Unit G310
Open Wye-Open Delta

120/240v
Wiring Diagram for Assembly Unit G310
Open Wye-Open Delta

4 )

Note: This Construction Assembly Unit is for
Replacement or Removal only. If replacing this
unit it has material currently approved by the
Distribution, Construction, and Design Standards

Commitee.
\_

J

Material
Number

Item Quantity

Material
Item Description Item Quantit: Item Description
P Number Q Y P

2000158

Bracket Mt Trans 3P Wing Type Bracket *3000153 2 5/8" Locknuts

2000278

4 Washer, square, 2 1/4"

Conn HL 8-2/0-8-1/0 *3000240

2000423

Cutout 14.4-24.9 100A 2000495 Bird Guard, Arrester

2000494

Guard Bird, Lg * Bolt Machine 3/4"

2000496

Guard Fused Cutout Cover *3000151 2 3/4" Locknuts

2000151

Bracket Equipment Mount FG 3Ph * As Req'd |Jumpers

*

Bolt Machine 5/8" * As Req'd [Connectors

/|
Pedernales

Electric Cooperative, Inc.

PEDERNALES ELECTRIC
COOPERATIVE, INC.
CONSTRUCTION ASSEMBLY UNIT

*Denotes Grab Bag Item. All bolt lenghts are dependent on pole class.

Construction Specification for two transformer cluster
mounted with 3® fiberglass equipment mount bracket.
Open wye-delta for 120/240v power loads.

date:
December 20, 2011

approved

MJB

G210




12.5/7.2 KV OR 24.9/14.4 kV

-

120/240V

12.5/7.2 kV OR 24.9/14.4 kV

OPEN AND REMOVE
FUSE BARREL AFTER
ENERGIZING THE

-

TRANSFORMER BANK

FUSED CUTOUT FOR TEMPORARILY
CONNECTING FLOATING GROUND TO
THE SYSTEM NEUTRAL. OPEN AND
REMOVE FUSE BARREL AFTER
ENERGIZING THE TRANSFORMER BANK

FUSED CUTOUT—.!

I

LIGHTNING— ¢+——*

ARRESTER g

12.5/7.2 KV OR 24.9/14.4 kV
GROUNDED NEUTRAL

UNGROUNDED NEUTRAL

240V,

240V

120/240V

WIRING DIAGRAM FOR ASSEMBLY UNIT G310
UNGROUNDED-WYE-CENTER TAP GROUNDED DELTA

T

REV| B [DATE] 08/09/2021 | REVISION | BIRD GUARD ARRESTER 2000495 WAS 2000494

3 TRANSFORMERS CLUSTER-MOUNTED WITH 39
FIBERGLASS EQUIPMENT MOUNT BRACKET
120/240V SECONDARY UNGROUNDED-WYE-CENTER

TAP GROUNDED DELTA PAGE 1 OF 6

CONSTRUCTION
ASSEMBLY UNIT

drawn:

approved:

date:

RWC

MMG

08/09/2021

G310



AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
A

AutoCAD SHX Text
N

AutoCAD SHX Text
C

AutoCAD SHX Text
E


12.5/7.2 kV OR 24.9/14 .4 kV

~—OPEN AND REMOVE
, FUSE BARREL AFTER
[ ENERGIZING THE
TRANSFORMER BANK

PHASE GROUNDED
ON NEUTRAL

240 or 480V

FUSED CUTOUT FOR TEMPORARILY
CONNECTING FLOATING GROUND TO
THE SYSTEM NEUTRAL. OPEN AND
REMOVE FUSE BARREL AFTER
12.5/7.2kV OR 24.9/14.4 kV ENERGIZING THE TRANSFORMER BANK

A
B
FUSED CUTOUTN \ /
- \ e

LIGHTNING

ARRESTER \
12.5/7.2 kV OR 24.9/14 .4 kV

GROUNDED NEUTRAL
UNGROUNDED NEUTRAL

PHASE GROUNDED
ON NEUTRAL

240 or 480V C

WIRING DIAGRAM FOR ASSEMBLY UNIT G311
UNGROUNDED-WYE-CORNER GROUNDED DELTA

REV| B [DATE] 08/09/2021 | REVISION | BIRD GUARD ARRESTER 2000495 WAS 2000494

3 TRANSFORMERS CLUSTER-MOUNTED WITH 3@
FIBERGLASS EQUIPMENT MOUNT BRACKET
CONSTRUCTION 240V OR 480V SECONDARY UNGROUNDED-WYE
ASSEMBLY UNIT GROUNDED DELTA PAGE 2 OF 6

drawn: approved: date:

RWC MMG 08/09/2021 G311



AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
C

AutoCAD SHX Text
H

AutoCAD SHX Text
A

AutoCAD SHX Text
N

AutoCAD SHX Text
C

AutoCAD SHX Text
E


12.5/7.2 kV OR 24.9/14.4 kV

120/208V

12.5/7.2 kV OR 24.9/14.4 kV

FUSED CUTOUT

LIGHTNING —
ARRESTER

REV| B [DATE] 08/09/2021 | REVISION | BIRD GUARD ARRESTER 2000495 WAS 2000494

3 TRANSFORMERS CLUSTER-MOUNTED WITH 3@
FIBERGLASS EQUIPMENT MOUNT BRACKET
CONSTRUCTION 120/208V SECONDARY FOUR WIRE GROUNDED
ASSEMBLY UNIT WYE-GROUNDED-WYE PAGE 3 OF 6

drawn: approved:

date:

RWC MMG

08/09/2021

G312



AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N


12.5/7.2 KV OR 24.9/14.4 kV

277/480V

12.5/7.2 kV OR 24.9/14.4 kV

FUSED CUTOUT

LIGHTNING
ARRESTER

PRIMARY AND
SECONDARY
NEUTRALS MUST BE
INTERCONNECTED

f

277/480V

REV| B [DATE]08/09/2021 | REVISION | BIRD GUARD ARRESTER 2000495 WAS 2000494

3 TRANSFORMERS CLUSTER MOUNTED WITH 3@
FIBERGLASS EQUIPMENT MOUNT BRACKET
CONSTRUCTION 277/480V SECONDARY GROUNDED
ASSEMBLY UNIT WYE-GROUNDED-WYE PAGE 4 OF 6

drawn: approved:

date:

RWC MMG

08/09/2021

G313



AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N

AutoCAD SHX Text
H

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
E

AutoCAD SHX Text
N


TRANSFORMERS MOUNTED ON 39 DEAD-END POLE

INSTALL FOURTH
CUTOUT AT THIS
LOCATION ON G310
AND G311 ONLY

; b - + & —m H,K.L,Q

? 6"\INSTALL FOURTH - = ‘ !
] CUTOUT AT THIS -

19" LOCATION ON G310

AND G311 ONLY

FRONT VIEW ISOMETRIC VIEW
SEE PARTS LIST ON PAGE 6

SIDE VIEW

3 TRANSFORMERS CLUSTER-MOUNTED WITH 3@
FIBERGLASS EQUIPMENT MOUNT BRACKET
DIMENSIONS FOR MOUNTING ON A DEAD-END POLE
CONSTRUCTION 08/09/2021 [ BIRB SUARD ARRESTER 2000495 G310, G311, G312 AND G313 PAGE 5 OF 6
ASSEMBLY UNIT 12/20/2018| ISSUE FOR CONSTRUCTION drawn: approved: date:

REVISION DATE REVISION RWC MMG  108/09/2021 G310-G313




45"

30“

TANGENT LINE ASSEMBLY

CONSTRUCTION
ASSEMBLY UNIT

TRANSFORMERS MOUNTED ON 3@ TANGENT POLE

BOND TRANSFORMER
GROUND TO NEUTRAL

POLE GROUND

F AND D
G310 AND G311 ONLY

_ INSTALL FOURTH
L & CUTOUT AT THIS
o LOCATION ON G310
: AND G311 ONLY
TRANSFORMER CASE
o 'V GROUND
,,,,,,, ¥
MATERIAL NUMBER DESCRIPTION QUANTITY

A 2000158 BRACKET MT TRANS 3P WING TYPE BRACKET 1

B *3000021 BRACKET CUTOUT MOUNTING AS REQ'D
C 2000278 CONNECTOR HL GP 8-2/0-8-1/0 3

D 2000423 CUTOUT 14.4-24.9 kV 100A **4(3)

E 2000495 BIRD GUARD, ARRESTER 6

F 2000496 GUARD FUSED CUTOUT COVER **4(3)

G 2000151 BRACKET EQUIPMENT MOUNT FG 39 1

H * BOLT MACHINE 5/8" AS REQ'D
I *3000188 SCREW LAG 1/2" x 4" AS REQ'D
J *3000022 BRACKET 'L AS REQ'D
K *3000153 LOCKNUTS 5/8" AS REQ'D
L *3000240 or WASHER SQUARE FLAT 2 1/4" WITH 11/16" HOLE AS REQ'D
L *3000237 or WASHER SQUARE CURVED FOR 3/4" BOLT 4" WITH 15/16" HOLE AS REQ'D
L *3000235 WASHER SQUARE CURVED FOR 5/8" BOLT 3" WITH 13/16" HOLE AS REQ'D
M * BOLT MACHINE 3/4" AS REQ'D
N *3000151 LOCKNUT 3/4" MF AS REQ'D
O) * JUMPERS AS REQ'D
P *2000347 CONNECTOR SPLIT BOLT GP 6 AS REQ'D
Q *3000227 WASHER COIL 5/8" AS REQ'D

*DENOTES "GRAB BAG" ITEM. ALL BOLT LENGTHS DEPEND ON POLE CLASS.

**QUANTITIES IN PARENTHESES ARE FOR GROUNDED WYE SYSTEMS.

08/09/2021 | WAS 2000494

BIRD GUARD ARRESTER 2000495

SECTION X-X

3 TRANSFORMERS CLUSTER MOUNTED WITH 3@
FIBERGLASS EQUIPMENT-MOUNT BRACKET
DIMENSIONS FOR MOUNTING ON A DEAD-END POLE
G310, G311, G312 AND G313 PAGE 6 OF 6

04/22/2021| ISSUE FOR CONSTRUCTION

REVISION

DATE REVISION

drawn: approved: date:
RwWC MMG 08/09/2021 G31 O'G31 3




	G5-1 and g5-3
	G5-2
	G5-2.1
	G135 Pg1 of 2
	G135 Pg 2 of 2
	G135
	G210 Pg 1 of 2
	G210 Pg 2 of 2
	G310-G313 Pg 1 of 6
	G310-G313 Pg 2 of 6
	G310-G313 Pg 3 of 6
	G310-G313 Pg 4 of 6
	G310-G313 Pg 5 of 6
	G310-G313 Pg 6 of 6
	G310-G311-G312-G313-A-PG6.pdf
	Sheets and Views
	Framing Specification-2 PAGE-6


	G310-G311-G312-G313-A-PG5.pdf
	Sheets and Views
	Framing Specification-1 PAGE-5


	G310-G311-G312-G313-A-PG4.pdf
	Sheets and Views
	G313-PAGE-4


	G310-G311-G312-G313-A-PG3.pdf
	Sheets and Views
	G312-PAGE-3


	G310-G311-G312-G313-A-PG2.pdf
	Sheets and Views
	G311-PAGE-2


	G310-G311-G312-G313-A-PG1.pdf
	Sheets and Views
	G310-PAGE-1





